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3larall 3 8l o cpuiadall o b ) geanal) dalecall 3 (10

y=e" , y=4e™™ 0<x<In2

Q1) Find the area between the curves on the given interval?
y=e* , y=4e™* , 0<x<In2

A) f;nz(ex—tle‘x) dx

B) f;nz(ex+4e"‘) dx

0 f;n2(4e‘x—e") dx

D) f;nz(e‘x —4e*) dx
CVx+Hy=1, y=0  — b sasal dhid) dales 2 (20
Q2) Find the area of the region bounded by Vx+,y=1 , y=0 ?
1 2
A) A= [/(1-Vx) dx
B) A= fol(l —x) dx
€) A=[;(1-x)dx
1 2
D) A= [ (1-+vx) dx
I 3y =x , x=2+y? Aaulgdagaaal) Abhia) dalun i (3w
(Q3) The area bounded by 3y=x , x=2+7y? isgiven by the integral?
2
A) [[By-2+y?) dy
2
B) [[(=3y+2+y%) dy
2
O [[By+2+y?) dy
2
D) [[By-2-y*) dy
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TR Ay + Ay Aabuall Jiay @ Jal€) (40

Q4) The Integral representing the area A, + 4, is?

A) fOZ(Zx —x?) dx A

4 3T
B) fo \/; dy y = Za

Oy (W=3)

Y

D) [y (2-y) dy

$0<x<9 5 e A(x) = m(9x — x2) ) ahaial) dala pa aluaall aaa 23 (50

Q5) Find the volume of the solid with cross-sectional area A(x) =m(9x—x%) , 0<x<9 ?

A) sy

B) —m

C) —m

D) 243m

¢ ggxsz?" s A Aoy =In(sinx) ol Jsb s (6o

SxSZ" ?

Q6) Find the arc length y = In(sinx) on the interval 5

W]

2m

A) [ esctx dx
3

2n
B) [* V14 cotx dx
3

2m

€) J* esex dx
3

2m
D) [*V1+csc?x dx
3
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?(x)JJMdP y=sinx, 0<x<mw M\M\Wﬁjﬁ&ﬁﬁﬂd\&h—d\h&a&\(?w

Q7) Compute the surface area generated by rotating the function curve y=sinx , 0<x<m
about x — axis ?

A S= f:Zn sinxV1 — cos?x dx
B) S= f;Znsinxm dx
CH Rk f:Zn' cosxV1 + cos?x dx
D) §= f:Zn cosxV1 + sin?x dx
$30 ft gy (m 6 ft/sec 4y Jiud asuad) il 13 casuad 43 gard) A all (0) 9 y(0) Adlai) Jagpdd) aaa (8w

(8) Identify the initial conditions y(0) and y'(0) for the perpendicular motion of an object, if the
object drops down at 6 ft/sec from a height of 30 ft ?

4) y(0)= 30, y'(0)= -6
B) y(0)=10 , y'(0) = -6
C) y(0)=30, y'(0) = 6
D) y(0) =0, y'(0) = 6
() Juai Ladie 3 SN g ) 42 140 ft/sec W sl de yu 5 ft gL (e LS 5 <l (UL dssan =Y a9y (904
O e (il i il ) AlaY) o B ¢ 60 ft iz J3iall dayl
(BUEY) 203! () Al 1) Aslaal) padid) 25 ¢ () 488 Uslaal) (pa (Galatl) g 2aa 1pesali)
Q9) A baseball player shoots the ball horizontally from a height of 5 ft with an initial velocity of
140 ft/sec. Find the height of the ball when it reaches the home plate, away 60 ft ? Round the answer

to two decimal places. (Hint: determine the flight time from the horizontal equation (x) , then use the
vertical equation (y) to determine the height)

A) 2.33ft
B) 2.06 ft
C) 3.67 ft

D) 2.67ft
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1 1\3
A) E(x—z) +c
B) ——x——+c¢
2 1
C) X —1+m+c

x3

D) ?—Zx—£+c

A) sin™?!
B) sec!
0) % tan~1

1 b
D) - sec 1

A) In(x?+2x+2)+c
B) In|lx+1|+¢c

C) tan(x+1)+c

1 1 X
D) —;+EIHIX|+E+C

1 2
ST - o
1
flxlx/xz—az g aE = (110
dx
¢ fx2+2x+2 - = (120‘
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g [sin20 cos 6 do =

2 3
A) —3cos® O +c

2 3
B) 3€0S 0+ c
C) sin%6 cosf + ¢
D) cos®0+c

g [(Inx)? dx =

A) In’x—2xInx+2x+c¢
B) xIn*x —2x Inx—2x+ ¢
C) xIn?x—2xInx+2x+c

D) xIn*x+2x Inx+2x+c

¢ [ x8tan3(x” + 8) sec(x” +8) dx =
A) 2—llsec3 (x7 +8) + %sec(x7 +8)+c
B) %sec3 (x7 +8) — %sec(x7 +8)+c
0 %tmﬁ (x7 +8) + %tan(x7 +8)+c

D) %tan3 (x7 +8) — %tan(x7 +8)+c

an (13
2 (140«
2 (150«
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4)

B)

©)

D)

A)

B)

9

D)

4)

B)

9

D)

%Vl—x2+c

16V4 —x2 + ¢

1 2
tanx* + ¢
16 +

1
—%(1+sinx)5+c
Invl+sinx+c

2V1+sinx+c

In|1+sinx|+c

%lnlxl +In|x — 2|+ ¢

1
=In
2

x—2

X

+c

In|x — 2| +In|x| + ¢

%lnlx(x —-2)|+c

/

1

| 6
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¢ Yy =y(1—x+y—ay) A da e &) (190

Q19) The differential equation y=y(1—-—x+y—xy) is?

A) JellldLi

By Y X —1-2x , Juilliys

y2
O —Y —x41, Jailig
yiy—1)
D) y = X, dmﬂa.h@
y(1+y)
¢ y=x+y*x , y0)=1 IVP  adlwa s 22 (20
A) y=tanx

B) y=tan! (%xz)

C) y=tan ze + %)

D) y=tan! ze + E)
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y:xz , y:4.—x2 :f-)SJJM\M\QUJJQAQJSSéﬁ\ﬁ-@d\ﬁgw\(21u.u
Q21) Compute the volume of the solid formed by revolving the region bounded by: y=x* , y=4—x?

¢ x ol dss (A

tx=2 Jds» (B

2
¢ x“+1 = LSt Z.A.é KEY
| 2 dx Ja B 2 (220
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¢ 100 — aainall sy (e 23 a3 (1) (o) ) 28 galll Aldlaa 2 lielus JS cislaiyg 10% (e (g5 (6 5585 paina (230

Q23) A bacterial culture has 10* and doubles in population every 2 hours. Find an equation for the population
at any time, then determine when the population will reach 106 ?

Lid ol gw o LaY) a2 < Bonus (24-27) 4wl

Ailalee Aades JS& 385 437 gaw Joadl IS 131 1550 60 Lagdn ) ((pagas G Jun (ala i (240
fdal) Joh uald y=15(eﬁ+e;_0) , —30<x<30

Q24) A rope is to be hung between two poles 60 meters apart. If the rope assumes the shape of the
catenary y =15 (eﬁ = e%) , —30<x<30 Compute the length of the rope?

A) S:f_S:O %eﬁ+%e_ﬁ+1 dx

B) S=f030 %+%eﬁ+%e_ﬁ+1 dx

0) S=f_3:0 %(e%+e_%+2) dx

X X

2
D) s=2[" [Gew—3e™) +1 dx
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g ff x f(x) dx = e (25«
A) 1 X 1 3
f(x)| 4 6
B0 fxo)| 5 | 2
1
0) 2
D)h2q
g ftan™lx dx = A (260+
B 8 5 IS 1) OV el S O g S S 12 DA a8 40 12,000 () Letad Jual Ay 4859 a i) (a my (27 0

iy e 8% Ll dile o Jpand)

Q27) The bank offers to sell a bank note worth up to 12,000 AED within 12 years. How much should
you pay for it now if you want to get an 8% return on investment?
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